(3) SAT-3

Siferes girgar e
SCHOLASTIC APTITUDE TEST
TH WH-UA | F 100 W ¥ | WAT WA UF IF F ¥
THERE ARE 100 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.
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& 7 1 e wA ¥ 2

r r r
(A) ‘E‘ (B) E (C) E
g — 99 — i —
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T —> 9T —
(1) @ D 2) DFE
(3) A, BTEIC 4 AdD.

Consider the following five graphs ( note the axes carefully ). Which of the
following represents motion at constant speed ?

1 1
z
v ! 2
g © g
(A) Z B ¥ © 3
8 @ 8
Time —> 1 Time — Time ——»
1 g
2 E
o £ ® 3
@
Time —> Time —>
(1) Donly (2) Dand E
(3) A BandC 4) AandD.

NTSE()/ 18 - SAT-612-C [ P.T.O.



SAT-3 (4)

2.

1omﬁ®m#somwﬁ®fﬁﬁhwm"%éﬁ!hﬁ
SISt W & | 95 & WIS §A H AT AW 2

(1) 100ms™! (2) 500ms~!

(3) 05ms” ! 4 IF

A bullet of mass 50 gm is horizontally fired with a velocity 100 ms™ ' from a gun
of mass 10 kg. What will be the recoil velocity of the gun ?

(1) 100 ms™! 2) 500ms '

(3 O05ms™ ! (4)  Zero.
@ﬁzaﬁ%ﬁmén@mmaﬁaﬁtmmtaﬁwxmﬁaaﬁ
s S W G ¥ | A e AR AR A H g K G o §
37 g gR1 W Sfewan A et

(1) 707 @I 2)  141-4 WX

(3) 200 T (4) 400 HT |

A ball is shot vertically upward with a given initial velocity. It reaches a
maximum height of 100 m. If on a second shot, the initial velocity is doubled
then the ball will reach a maximum height of

(1) 707m 2) 1414m’

(3) 200m (4) 400 m.
aﬁg@mWMémﬁmRﬁmﬁmaﬁwﬁtﬁqﬁmmwc
3

(1) R%/M 2 M/R?

(3) M/R 4) R/M

Let M denotes the mass of earth and let R denotes its radius. The ratio g/G at
earth's surface is '

() R*/M 2) M/R?
(3) M/R 4) R/M
TEF §eH GHE &

(1) ¥ (2) WHvg-!
(3) HeX (4) K
The unit ‘hertz’ is same as

(1) second (2) second ™ !
(3) metre (4) metre L.
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6. frdt @fT a1 #t Mg 10 kHz U6 TRH 3 mm ¢ | 3 Wi o ¥ 78 fean
g & 2
(1) 01 WHTE 2 19F5E
(3) 10 ¥HUE 4) 001 ¥FTT |
A sound wave has a frequency of 10 kHz and wavelength 3 mm. How much nme
will it take to travel 3 metre ?
(1) 01 sec (2) 1 sec
(3) 10 sec 4) 0-01 sec.
7. fodt sraae Uur gRT SeAaTet wfdfee &1 SR b9 & eTRR & FuF €, ot e i
feafe gt
(1) FW 2 F3RcHdEH
B) CW 4) C3R 3« & & |
The size of image formed by a concave mirror is same as the size of object. The
position of the object will be
(1) atF ‘ (2) between Fand C
3 atC (4) between C and infinity.
8. Ud I o ! BIHd g 30 ¥ ¢ | 3R U forw TmR 15@#’?@!1??@!3131
oI R 3T A €
(1) 666 @2 05
3 1 @ 2.
A convex lens has focal length 30 cm. If an object is placed at a distance of
15 cm from it then the magnification produced by the lens is * ‘

(1) 666 ' (20 05
..@ 1 @ 2
9. UF AIF R HI fHEd TRRE K ¥ | AR SR o T SRR $IE SR |
AT T & o 39t ¢ wfaryenar gt
(1) K 20 2K
) K/2 4) K/4.

The electrical resistivity of a coniducting wire is K. If its length and area of cross-
section are doubled then the new resistivity of the wire will be

y K (2) 2K
(38) K/2 (4) K/4.
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(6)

10. 58 7 9itwa § A9 BF 9 oF Wiewy 1 ?

11.

12.

ia 28
A ia el 28 B
(1) 100 2 4qQ
3) %‘Q 4) 167-9.
What is the equivalent rcslistancc of the given cizrcu'it between points A and B ?
Q Q
s laa[ 2 1 5
1 29
(1) 10Q 2 40
@ Yo @ Lo

100 A & 4 Fod YAF 6 U WAl AR Tt § | 5 To AT kwh B & ¥ 30
T AT % o ot a1 gey @ 2
(1) 360 %o (2) 90 %o
(5) 120 To (4) 400 o,

4 bulbs rated 100 W each, operate for 6 hours per day. What is the cost of the
energy consumed in 30 days at the rate of Rs. 5/kWh ?

(1) Rs. 360 (2) Rs.90
(3) Rs. 120 (4) Rs. 400.

w @ AR fagd uw vafea @ @ § |h§sﬁaaawqwﬁaqmt@mﬁ

€ Qe
As

B

v

(1) g fasifue =%t &

(2) e U & g3 fawifaa gni

(3) =T gear aum feen o faefua e
(4) = gear fauka feen o femifea &
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An electric current is passed through a straight wire. Magnetic compasses are

placed at the points A and B. True statement is
A
B-

>
L4

(1) their needles will not deflect
(2) only one of the needles will deflect
(3) both the needles will deflect in the same direction

(4) the needles will deflect in the opposite direction.

13. 99 &2 feut F @ eF-ar G v o & oy # geiar @ o9 o g |
ferdt forg x @ @ia & @ ™ fredt o fag v e Wt ® 2

#g AV Hi y
(1) g SN o
X X

wa o A == &
3) 'm’k | @ 7
X X

Which diagram below illustrates the path of a light ray as it travels from a given

point X in air to another given point Y in glass ?

glass %Y glass | / Y
(1) : ' (2) :
air ;/E air

X X

glass Y glass f Y
(3) air “ air %

X X
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14. adifefEa sfafear § Hel 1 agndt 8 §
' HCl(aq)+H,0 - Cl™ (aq)+H,0"
(1) H,0" () H,0
3 cCr (4) HCL

Conjugate base of HCl in the following reaction is
HCl(aq)+H,0 - Cl” (aq)+H,0"

(1) HZ0" (2) "H,0
3) CI° (4) HCL

15, R 36 IR F Wt G ¥
(1) CaSO, (2) CaSO,.2H,0
(3) CaSO,.%2H,0 (4) CaSO,.H,0.
The chemical formula of Plaster of Paris is
(1) €aso, - (2 CaSO,.2H,0
(3) CaSO,.%2H, 0 (4)  CaSO,.H,0.

16 3ifeiEa fulrar 7 e e TR &1 IBRE & 2
CHCL, + 0, — 252, 9cocl, + 2HCI
(1) YAH 3ISE 2) FHHF IONEH
(3) FE-IBRF (4) @& IORF |

Which type of catalyst is ethanol in the following reaction ?
cHel, + 0, — 252, 2c0cy, + 2HC

(1) Positive catalyst (2) Negative catalyst
(3) Bio-catalyst (4)  Autocatalyst.
17.  anferfaa o & 3our &
(1) wifaEy (2) W
(3) wifegw 4) Tafer
Metalloid among the following is
(1) lithfum (2) sulphur
(3) sodium (4) silicon.
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18.

19

20.

21.

(9) SAT-3

CH

CH; ~>C = CH, 1 upAC M ¥

(1) 1, 1-SERfge-2-TdH 2) 2-9fue- -0
@) 2, 2-sEafe ueE @)  2-8fge w28 |

CH
The [UPAC name of cnz >° =Gy 5

(1) 1, 1-dimethyl-2-ethene (2) 2-methyl-1-propene

(3) 2, 2-dimethyl ethene (4) 2-methyl prop-2-ene

el sirer o draAaE TR & WA R 9 g

(1) IrEEni @ @™

(3) e - (4 FEEH-6, 6.

The polymer formed by condensation of adipic acid and hexamethylene diamine.is
(1) isoprene (2) rayon

(3) terylene (4) nylon-6, 6.

o T4 R FAREE & T H 99U B A fah @

(1) W SEE (2) T
(3) aviettEe @) FrweE
The method for separation of mixture of common salt and ammeonium chloride is
(1) fractional distillation (2) sublimation
(3) chromatography . (4) crystallization.
14 gm N, 3] H FopEt i g aeit
(1) 6022x10% @ 3011x10%
(3) 151 x 1023 4) 6022 x 10%2.

Number of molecules present in 14 gm of N, molecule is
(1) 6022x10% @ 3011 x10%
3) 151 %102 4) 6022 x10%2
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22. 2,8, 6 FfatEa d ¥ ey o & et fTam e 2

(1) | 2) i
(3) TR (4) FAE |
Which of the following elements has an electronic configuration 2, 8, 6 ?
(1} Sulphur (2) Oxygen
(3)  Phosphorus (4)  Chlorine. -
23, Ffcfad § ¥ $H-91 a uRad-eie qarhal wied s ¢ 2
(I) Na (20 Mg
(3) Fe (4 Zn.

Which of the following elements shows variable valency ?

(1) Na (2) Mg
(3] Fe . 4) Zn.
24, Ueifafran wEFE &1 g &
(1) Al (co,), (2) AlLCO,
(3) ALHCO, (4)  AICO,.

Formula of aluminium carbonate is

(M A1, (Co,), (2 Al,CO,
(3) Al,HCO, (4) AICO

25. WAH- 112 F G &

(1) C,F,Cl, (2) CF,Cl,

(3) CFCl, (4)  CCI,F.

Formula of Freon-112 is

(1) C,F.Cl, (2) CF,Cl,

@ CFCl, (4) CCLF.
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28.

29.
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@ X TR0 F Y AhEa w0 o | faey 399 et aen A e €
X ¥

(1) s @2 A

(3) WA @ e

The element X reacting with chlorine forms a water soluble compound having
high melting point. Element X is

(1) magnesium (2) argon

{3) carbon (4) neon.

Afae & WRR foed § SF-91 Fae 9™ S ¢ 2

(1) T (2 TEET Fw
(@) Fw (@  Fies
Which tissue is found in fibrous covering of coconut ?
(1) Parenchyma (2 Collenchyma
(3) Sclerenchyma (4) Meristematic tissue.
FiferdT § F5F F @

() TEF (2 TERE

@) e 7= @ faEr
Nucleus of the cell was discovered by

(1) Robert Hooke (2) Leeuwenhoek
(3) Robert Brown (4) Virchow.

fret o @ ®-w1 oRw EmE § 2

(1) e (2 R

(3) R @ UEREE |
Which of the following is a plant hormone ?

(1) Insulin (2) Thyroxine

(3) Cytokinin (4)  Oestrogen.
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30. a1 # IRYA FewT TRIAFEE & TR F Wid Hfuw FE IRY W @

31.

32.

33.

(1) e @ R

(3) fEtwEa (4) Fon=remd |

Plant group more sensitive to the levels of sulphur dioxide in air is
(1) Thallophyta (2) Lichen

(3) Pteridophyta (4) Gymnosperm.

Fganl, GIERR AU HILIF URYl & I &

(1) AR, HEeEr (2) i, g-2e

(3) WREEHH, UETH (4)  goiTHE, TR |
Examples of perennial, evergreen and woody plants are

(1)  Funaria, Marchantia (2)  Marsilea, Horse-tail
(3) Cyecas, Pinus (4)  Ulothrix, Spirogyra.
IV I T T4 TGl ¢

(1) Rfws (2) EEEH

(3) ©iEw (4)  TioST S |

Turgidity of cell is maintained by

(1)  Vacuole (2)  Lysosome
(3)  Plastid (4)  Golgi body.

Y9l WYY & feu savas we &

(1) FH & TR (2) aFERIEa

(3) R (4) FET IRATFERS |
The substance not essential for photosynthesis is

(1)  sunlight (2)  chiorophyll

(3) nitrogen (4)  carbon dioxide.
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34, BT AT ® HHA e e g |

(1) TEEF @ T=FE

(3) HgA-TEEH (4 AGE-gER |

The nature of nerve impulse is

(1) chemical (2) magnetic

(3) electrochemical (4)  electromagnetic.
35. e Il IJeuel ST H IS &

(1) el (2 gy

(3) IR @) TR

The example of uricotelic animals is

(1) fishes (2) reptiles

(3) amphibians (4) ~mammals

36. HUTH % FTER THAH GH H F, GGl T S W 39 &

(1) 3:1 (2) 9:+3::3:1

B 1:1 @ 1:2:1

According to Mendel in monohybrid cross the genotypic ratio of F, generation is

(1) 3:1 2 9:3:3:1
3 1:1 @ 1:2:1.
37. WIS Feih HT [T &
(1) 3ufe 2) HHE e
(3) et F w@E (4) e Hife |
Example of connective tissue is
(1) cartilage (2)  skeletal muscles
(3)  skin of animals (4)  nerve cells.
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38.

40,

41.

HE T T WAUR! T ST §
(1) THTRS 2 FTE
(3 HIN 4 ufwmsr
The example of egg laying mammal is
(1) Bat (2) Kangaroo
(3) Pigeon (4)  Echidna
IEHHS T &
(1) FW 2) USH
(3)  FfaTEE (@)  diferar |
Non-communicable disease is
(1) Cancer (2) AIDS
(3) Amoebiasis (4) Jaundice.
fovg |9 & v IR & € 2
(1) SR (2) weRfen
(3] UEhfou-dtst (4) HEE |
Animals of which phylum are pseudocoelomate ?
(1) Porifera (2) Platyhelminthes
(3]  Aschelminthes (4) Mollusca.
afz 33*2)/_3:“./51; R, A Jatb F A T W WS o 3 b WOl G
g7
() 5 2 8
3) 2 (4) 16.
3+ 2J§ :
If 3_ﬁ=a+w/§b. then thcvalueofJa+b where a and b are rational
numbers is
(my s 2 8
3) 2 (4) 16.
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2. kK T p & @1 wAemw "AT & fou @il 2x?+ px+ 8 =o0@W

33.

44.

p(x%+ x )+ k = 0% g F9H &1 2

(1) k=1, p=4

(2)

3 k=4, p=8 @4 k=2,

For which positive values of k and p,

p(x?+ x )+ k = 0 have equal roots ?

(1) k=1, p=4 2 k=2,

3) k=4, p=8 (4) k=2,

p=8
p=4.

equations 2x? + px + 8 = 0and

p=8

p=4.

I o, TR X2 - p(x+1)-k FYIB TWIPREH (a+1) (B+1)=68

k &1 949 &

(1) 5 2 -1

@3 -3 @4 -5.

lfn,Barczerosofpolynomialxz-p(x-rl)-k suchthat (a+1) (B+1)=6,

then value of k is

(1 s (2)

@ -3 @ -5
68— 5107 g &7 3% M

1y s 2 8
3 1 4 9.
Which is unit digit of 6 '8 - 5107

(1) s 2 8
B 1 4 9.
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45. = ampfa § QT L PRTYT QS = PS® | A% £ TQR = 40° q £ RPS = 20° &  x &l

(16)

o= &
P
Q .
(1) 80° (2)
(3) 1s5° (4)

In the following figure QT L PR and QS = PS. If Z TQR = 40° and £ RPS = 20°

then value of x is

35°.

P
o #
(1) 80° ()
(3 15° (4)

3s5°.

46. IR 891 20, 19%, 181 .. &1 FH-T1 95, TAH HONHS 9§ &N 2

(1) 1871 (2)
(3) 284 (4)

Which term of A.P. 20, 19%, 18l .

(1) 18th 2)
(3) 28th (4)

NTSE(I)/18 - SAT-612-C

15 &t
27 T |
is first negative term ?

15th
27th.



47.

48.

49,

(17) SAT-3

12 thex St us "R % faodia ok R 2 fagal ® dAR & fraw % 3957 &
W& &I § | 3w SR 1 fag JAR & 9% ¥ 16 m W A, & g fag @ dER
& g & g Ertt

(1) 24 #A 2 9=

(3) 12 "X 4) 18 HIZT |

The angles of elevation of the top of a 12 m high tower from two points in

opposite directions with it are complementary. If distance of one point from its

base is 16 m, then distance of second point from tower's base is

(1) 24m (2) 9m
3) 12m 4) 18 m.
7-'Iﬁ«'m=9°iﬁ‘?a'l’ﬂn:---c—o"AB‘Y.'t"ﬁ(m’+n2)c0$28 WER &
cos B sin B
(1) m? 2 n?
3) m2+n? 4  m+n
_CosA _CosA 2 2 2p;
lfm-cosBandn—sinB.then(m +n )cos B is equal to
(1) m?

(3) m? + n?
it 3 gEq Brgel @ Feredt F1 S 4 9 &, a S F Awe B I G
() 2:3 2 3:2

(3) 81:16 (4) 16 : 81.
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50.

S1.

If ratio of heights of two similar triangles is 4 : 9, then ratio between their areas
is
(1) 2:3 2 3:2

(3) 81:16 (4 16:81.

10 ¥ B & w39 §, R AW AB = AC = 12 cm ®, @ &1 BC F wE=RE
] @t ?

(1) 12 ¥R 2) 96 9t
(3) 192 {Ht @) 72 9t

In a circle of 10 cm radius, two chords AB = AC = 12 cm. then the length of the

chord BCis
(1) 12cm (20 96cm
(3) 192cm 4 72cm.

10 T fosm de@mat &1 g 120 &, df I 4 w9w 5 faww dens & A =
g 2

(1) 113 (2 115

(3) 114 4) 116.

If mean of ten consecutive odd numbers is 120, then the mean of first five odd

numbers among them is
(1) 113 (2) 115

3) 114 4) 116.
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52. @ M FEla o SwEied W F SR FaRd, J&lE I ABCD F YA 10 @

a1 & & 3t fauda vist @ &= 99 FX g9 99 @ @ E@
D C

) ow  ©
(1) 20 =t @ 200 = g

@) % =i (@ 190 =f |

Find the area of shaded region, where side of square ABCD is 10 cm and two

arcs drawn from two opposite vertices of the square.

D c

A 10 cm B
(1) Zg-‘lsq. unit (2) 4—$Qaq. unit
3) %o-aq. unit @) l%'isq. unit.

53. 14 ¥ Furt o vig fonw sTR F e & S gUER 9 & AW 4 9 e
2 A ¥ | 39 P @1 e = gt 2 |
(1) 9%-8-@:?(3 2) Q;Tsﬁﬁ3
@) 112 ¥t 2 4) 3291&%2.
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Find the capacity of a glass which is in the shape of frustum of height 14 cm and

diameters of both circular ends are 4 cm and 2 cm.

308 3 298 3
(N 3 cm (2) 31 m
(3) 112 cm? (4) % cm?.

54. aﬁfsﬁﬁr—gP(gg.:’—s:").ﬁqA('s,S)HmB(x.y)aﬂfqaﬁawﬂ%@waﬁ
2:3 & U | 3 fawfed # a x 991 y & 5 Eh

(1) x=4, y=7 (2) x=5, y=9
3 x=7, y=9 (4) x=7, y=8,
If a point P(%.%:i).divides line AB joining two points A (3,5 )and B(x, y)

internally in ratio of 2 : 3, then the values of x and y will be
(1) x=4, y=7 (20 x=5, y=9

B) x=7,y=9 (4) x=7, y=8.
55. dlg UE &9 a9 &1 ggfea® 95 f6ar w8, & 39 a9 o 53 WWaR g @i Wi
1 gt 2

1 2
m 3 @ 2
53 52
) 366 ) 365"

If a leap year i elected r. lomly, then what is the probability of naving

53 Mondays in this year ?

m 1 @)

<o
als

@ = @
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(21) SAT-3

56. 4 fodt g #1 uitfy, 30% =99 & 60 T iy &, A 39 ga F1 Wiy = w=m
gt

(1) 14xcm (2) 28 ncm
(3) 35ncm (4) 42 n cm.

If the length of circumference of a circle is 60 cm more than its diameter, then
length of its circumference is

(1) l4ncm (2) 28 x cm

(3) 35ncm (4) 42 n cm.

57. fad m s ABc # AD 9 BE Bgw &t miftrst ws T i fag ¢ W wiowfa
Fdl & | 3% A BDG W1 &%e 1 W01 At @ Al JFEA DCEG F SFFA 4T 2 2

A
E
B = C
(1) 2@t ddt 2) 3@ aH
(3) 4@ gt @) 13 g4

In given AABC, AD and BE are medians of triangle which intersect each other at
point G. If area of ABDG is 1 cm?, then what is the area of DCEG ?

A
E
B 5 c
(1) 2 cm? (2) 3 cm?
(3) 4cm? 4) 1cm?
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58.

59.

60.

60° 30/ &7 &1 Hega d g fave=n & 2

n® 121
5 @ 3~

121x° 121 _c
G o @ %"

What is the radian value of angle 60° 30'?

© 121 e
m X @ 12l
1217€ 121 c
G 8o 4 530"

U e & AW 25% F A HA W ITH TOE HA% b Wfawd & 8
S 2

(1)  25% (2) 5625%

(3) 4375% (4)  625%.

The diameter of a sphere is decreased by 25%. By what per cent does its curved

surface area decrease ?

(1) 25% 2) 5625%
(3) 4375% 4) 62:5%.
(x—y)? + (y—2)% + (z=x) FAAE
1) (x-y)° (y-2)° (z2-x)°

20 3(x-y) (y-2) (z-x)

@) x+y’+2°-3xz

4) x°+y®+ 2% -2x%y-2y%z-22%x
Valueof (x—y ) + (y-2)® + (z-x)3is
(1) (x-y)® (y-2)° (2-x)°

2 3(x-y) (y-2) (z-x)

B) x*+y®+2°-3xyz

(4) 3+ y3 + 23~ 2x2y- 2y2z— 22%x.

NTSE(l)/ 18 - SAT-612-C
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61. qel-1 ® geit-m ¥ Ao Fd gU W F2 F1 997 o

-1 qet-r

(3) TR TR & AavH () 209, 1789
() areT &1 969 g3 (i) 4 3T, 1789
(F) wig o qrd FawEn 1 9 (i) 14 9T, 1789
(3) 2F =i =t o (ivy 57,1789
FT :

X L w T
) i ii iii iv
2) v iii ii i
(3 v i ii iii
(4) i iv iii i

Match List-I with List-Il correctly and choose the correct code from the

following :

List-1 List-IT
(A) Meeting of the Estates General (i) 20% June, 1789
(B) Bastille was destroyed on (i) 4™ August, 1789

(C) Abolishment of feudal system in France (i) - 14'h July, 1789

(D) Swore of Tennis Court (iv) 5th May, 1789.
Code :
A B C D
(1) i il iii iv
(2) iv iii ii i
(3) iv i il iii
4) i iv iii ii,

NTSE(I)/ 18 - SAT-612-C [P.T.O.
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62. WRA HT 9% TG STl SAerararen anT fed €, &
(1) &RaEmn (2) I WRW
(3) o= (4) T |
The state of India where the Jallianwalla Bagh is situated, is
(1) Haryana (2)  Uttar Pradesh
(3) Punjab (4)  Rajasthan.
63. 1871 30 ® S %1 wHR 1
(1) fafeam waw (2 e geE
(3) hefe faferam aqd (4) o R

The German King in 1871 was

(1)  William I (2)  Nepoleon III

(3)  Frederik William IV (4) Emmanuel II.
64. s HI Wi P SR fHe A 2

(1) ¥H& (2) oo Fraew

(3) het VYA (4) S e |

Who discovered the spinning jeriniy ?

(1)  John Ke (2)  T.E. Nicholson

(3) Raphael Samuel (4)  James Hargreaves.
65. @Me faureE F Ay o

(1) 1903 (2) 1905

(3) 1907 (4) 1909,

The year of the Partition of Bengal was
(1) 1903 (2) 1905
(3) 1907 (4)  1909.
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66. Frfeifaa ¥ § ®H-91 v 3w fomr gl o wnfiver = a7 2

(1) 3t 2) WiE

(3) w4 (4) O |

Which one of the following countries was not among the Allied Powers ?
(1) England (2)  France

(3) Russia (4) Germany.

67. ST T AN G T TERH FE I g3 2
(1) 1750 (2) 1780
(3) 1850 (4) 1880.
When was the publication ofiBengal Gazette initiated ?
(1) 1750 (2) 1780

(3) 1850 (4) 1880,
68. = fagali v §

(A)  HETeE Wit 7 78 favara Sl % WY AHE q60 IE # |
(B) 20 31eA, 1930 I HeweT Tt J 37t F 79w HA arer |

T @ T Fe F G IW F wET w1
(1) & (A) (2) % (B)
(3) (A) 3R (B) T W@ 4) T Q HE T

Consider the following points :

(A) Mahatma Gandhi started Salt March with his 78 confidential volunteers.

(B) Mahatma Gandhi violated the Salt law at Dandi on April 20, 1930.
Choose the correct answer from the codes given below :

(1)  only (A) (2)  only (B)

(3) both (A) and (B) (4) none of these
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69.

70.

71.

72.

RA H U T W g% & 9% w1 g3 ?

(1) T F G (2 9HYA 1 gE
(@) T gE (@  fad s AR g9
After which war the British rule was founded in India ?
(1) Battle of Sabrao (2) Battle of Panipat
(3) Battle of Plassey (4) Second Anglo Mysore war.
g1 fave g & wer anfas wemidt #t e &
(1) 1921 (2) 1929
(3) 1935 (4)  1939.

When was the Great Economic Depression between the two World Wars held ?

(1) 1921 2) 1929

(3) 1935 (4) 1939,

HA=Z HS F T fde &t 2

(1) Y 2R (2) o Sy

(3)  HETCHT TRt (4) dfew €% gganaE |

Who composed Ananda Math ?

(1) Rabindranath Tagore (2) Munsi Premchand

(3) Mahatma Gandhi (4) Bankim Chandra Chattopadhyay.

‘@rEY T e R
(1) IR gedg w3e o 2) ¥R % Toee |
(3) IW & favme d5m o (4) WIEEIE R H |

‘Khadar’ is found in

(1) the northern mountain region
(2) Thar desert

(3) the vast northern plain

(4) the peninsular plateau.
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(27) SAT-3

WEEIIIE U8R ! WEd a4 H ITH WA
(1) 3 @ s
) IR 4 PSR

The rising place of the largest river of peninsular plateau is
(1) Betul (2) Nasik

(3) Jabalpur (4) Cuddalore.

yf¥edt @z W go-ofvad qRga @ we @Rt ast @t aen

(1) 100 ¥ 150 |4t 2) 150 ¥ 200 Tt

(3) 200 ¥ 250 At 4) 250 ¥F F A |

The quantity of rainfall received on the Western Ghats by south-west monsoon is
(1) 100 - 150 cm (2) 150 -200cm

(3) 200 -250 cm (4)  above 250 cm.

YR & 9 ¥ 71 ° fgeek, W 7 g & g9 U It € 2

(1) JFomeadg gt a9 (2)  EdE ad

(3) o aq 4) FOTHCIHG TIEER INE |
In which Indian forest are silver, fir and pine trees found ?

(1) Tropical deciduous forest (2)  Montane forest

(3) Mangrove forest (4)  Tropical evergreen rain forest.
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76. G -1 et - 11 Gl A §Y Tl FE F I I -

2

(1)
(2)
(3)
(4)

-1
(3) I BR
(®) ol BR
(®) @3’«
(z) ufves B8R
¥ T 7
il il iv
ii i iv
o i i

iv.

gt -
() 8°4'3Ie
(i) 37°6'3o
(i) 68°7'Ye

(ivy 97°25'9e |

Match List - I and List - II and choose the correct code from the following :

List-1I
(A) Northern end
(B) Southern end
(C) Eastern end

(D) Western end

Code :

A B C
(1) il iii iv
@2 i i v
(3) ii i iv
(4) i ii i
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iv.

List-0
i) 8°4'N
(i 37°6'N
(jiijy 68°7'E

(ivy 97°25'E.
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78

(29) SAT-3

fiet o ¥ FF- T W@ T IR T R 2

(1) I WA 2 T

(3) df¥e dme (4) TR |

Which of the following is the major sugarcane producing state ?
(1)  Uttar Pradesh (2)  Rajasthan

(3) West Bengal (4) Madhya Pradesh.

v & BRIgE § forw wfv & wecagol P o S & 2

(1) e I () wEen

(3) e (4) SR |

Important deposits of which mineral are found in Koraput in Odisha ?
(I) Iron ore (2) Coal

(3) Copper (4) Bauxite.

el awe W gt o fer e A o el g 2

(1) 1853 (2) 1854

(3) 1855 (4)  1856.

In which year was the first successful cotton textile mill established in India ?

(1) 1853 2 1854
(3) 1855 (4)  1856.
uRe F sAEE AT 2000 # wftnfed 7@ &

(1) s R

(2) =rfEt & gewwr e
(3) Forey 9 ) # 30 ¥ FA HEA
(4) TUTIR & HTER &G |
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81.

82.

Indian population policy 2000 not includes

(1) free education

(2) free from diseases

(3) reducing infant mortality rate below 30

(4) increase the employment opportunities.

T # wer T A e o T e §
(1) TETER — S — FEABTERE — HAYT

(2) W — ToTEy — gfeean

@) & — g — R

(@) Tl — SReE — TR — feeet |

Gas transportation pipeline which passes through Kota in Rajasthan is
(1) Guwahati — Barauni — Allahabad — Kanpur
(2) Barauni — Rajbandh — Haldia

(3) Hazira — Vijaipur — Jagdishpur

(4) Salaya — Viramgam — Mathura — Delh.

e 3R et 9e1 wRa & forg Tow & 08 et € 2

(1) oG 2) TEH

(3) W SR HIHR (4 w0 R FE
In which state of India is red and yellow soil found ?

(1) Chhattisgarh (2) Rajasthan

(3) Jammu and Kashmir (4) None of these.
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83. Wi i daF A T o ot dv S s & 2

(1) 9 |9

(2) wE |Hl

(3) % YT F 759 99 gl H | wEl o
@) YWRAy fod ¥

In which House is the finance bill presented first ?
(1) Rajya Sabha
(2) Lok Sabha
(3) Both Lok Sabha and Rajya Sabha anywhere
(4) Reserve Bank of India.
84. Frefefaa § # Temfas FHTfas &1 e ada g 2
(1) Foemder (2) T HAE 1 wiaa
(3) TR (4) gferd meReE |
Who among the following is a part of the political executive ?
(1) District Collector
(2) Secretary of the Ministry of Home Affairs
(3) Home Minister

(4) Director General of Police.

8s. frfeifan Tomfas desi § @ F1F-9 Tor a1 39 & HisEr SrE § g9 W
el & 2

(1) Hareg g 2) FEOEY FEEd
(3) W Al (4) UET |

Which of the following institutions can make changes to an existing law of our
country ?
(1) Supreme Court of India (2) International Court of Justice

(3) Prime Minister 4) Parliament.
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86. FHM WA Hiawr & FER = § § F-ar sfuer difas sfusri @t goft o
T E ?

(1) M & JAUFR

(2) At et w1 AfuER

(3) TR Hwpfa TN F AfuER
(4) I=a femn wife &1 afyar |

Which one of the following is considered as a fundamental right according to the

Constitution of India ?

(1) Right to work

(2) Right to adequate livelihood
(3) Right to protect one’s culture

(4) Right to get higher education.

g7 e Fmior e & wed | gifea it

(a)  oTTo T ) wfaee w % s
(B) Mo3Re 3zt (i) WEY FHI F TWE
(€ &% W (iii) WTEY HHS F AW
(D) Zodlo FEMERT v) AU TERER |

(1) (A) - iv, (B) - iii, (C) - i, (D) - ii
(2) (A)-iv, (B)-1ii, (C) - i, (D) - iii
(3) (A)-1i, (B)-iii, (C) - iv, (D) - ii
(4)  (A)-iii, (B) - iv, (C) - i, (D) - ii.
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Match the following in reference to constitution making process :

(A) B.N. Rae H) President of the Constituent Assembly
(B) B.R. Ambedkar (ii) Member of the Drafting Committee

(C) Rajendra Prasad (iiif  Chairman of the Drafting Committee
(D) T.T. Krishnamachari (iv)  Legal Advisor.

(1) (A)-iv, (B)-iii, (C) -1, (D) - ii

(2) (A)-iv, (B) -ii, (C) - i, (D) - iii

(3) (A)-1,(B)-ii, (C) -iv, (D) - ii

(4) (A) -1, (B) - iv, (C) - i, (D) - i,

88. 'R Hiear v # W FAET Guy 3f6d Fu ¢

(A) TS TE GRT A A FEA o HE
(B) T % THG IHZEARI R HH AHGTA HIA d FE%
() g 3 & forw Ren-faw
(D) HagwEl & ferg weem $t sAfEdr |

(1) AB,C (2) A B

3) B,C (4) C,D.

Choose the correct statement describing the word 'code of couduct' :
(A) A set of norms and guidelines to be followed by Political Parties
(B) A set of norms and guidelines to be followed by candidates in Election
(C) Guidelines for Election Commission
(D) Compulsory voting for voters.

(1) A,B,C (2) A B

3 B,C (4 C,D.

89. WRAM WY ¥ FAHA WENFHER Faied Fed § sfysway e < e

forw = gt & 2

(1) 29+1 (2) 30+1

(3) 28+1 (4) 31+1.

According to the Constitution of India, how many maximum no. of judges can be
appointed in Supreme Court ?

(1) 29+1 2) 30+1
(3) 28+1 4) 31+1.
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o0. faum dfisg F mekte wewt @t @@ it

91.

92.

(1) (2)

O\l— W=
Bl N

(3) (4)

How many members will be nominated in Legistative Council ?

m 3 @ 3

@ 3 @ 3.

WRer dfaum & feg s & FER e # e @ e g 2
(1) 7479 @ 754

(3) s24i (4 618 |

By which Article of the Constitution of India is the Prime Minister appointed ?
(1) 74th 2) 75th

(3) S52nd 4) 6lst.

YRA & IRl 1 g e g e o €, @@ ¥

(1) @ g & faifea ssa

2) TG W & 9t §EE

(3) @i /w1 wd o g & faifad e

(4) I T, T /91 OE o9 fawe awie & vt weE |
The Vice-President of India is elected by

(1) elected members of Lok Sabha

(2) all members of Rajya Sabha

(3) elected members of Lok Sabha & Rajya Sabha

(4) all members of Lok Sabha, Rajya Sabha and all state legislative assemblies.
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93. Wt - 1% Fet - 11 ¥ e I 8T W& F2 &1 99T A

2 :

(1)
(2)
3)

4)

gt -

() €9 g () FEGER FRAR
(@) g g () HER

(W) Qe gt (@) g

(3) omEfme AfvuFr iv) a9

¥ & T T

TR R SR

Wi v i

Wi i

ivoodi @ i

Match List - I and List - II and choose the correct code from the given codes :

(A)
(B)
(€
(D)
Code :
A
(1) i
(2) i
(3) i
(4) v
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List-1I List- I
Union list (1) Computer Software
State list (i) Communications
Concurrent list (i) Police
Residuary powers (iv) Forests,

B C D

il i iv

il iv i

v i iii

iii i i.
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94, I HT ITEOT &

(1) &
(3) SEyg
The example of capital is
(1) Water
(3) Climate
95. &l ! FHA &
(1) ¥R
(3) HaHI

The rabi crop is

(1) Jowar
(3) Maize

96. WRA ¥ H{Al Al AR HIAT &
(1) R o &
(3) TS

(36)
2 @
4 T |
(2) Forest
(4)  Machine.
(2) EEW

(4 T

(2) Bajra (Millet)

(4) Wheat.

2) Ve IF 3 e
(4) =% 36 e |

In India the currency note is issued by

(1) Reserve Bank of India

(3) NABARD
97. WEIT W@ & A &
(1) FEHR

(3) #%

(2) State Bank of India

(4) Bank of India.

2 e
@ fedRwr

The source of institutional credit is

(1) Money lender
(3) Bank
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(2) Landlord

(4) Relatives,



(37)
98, HYeE ¥ galas &7 H IO ¢
(1) FH () T T
(3) T A A FEE (4) &% Famw |
The example of tertiary sector is
(1)  Agriculture
(2) Fisheries
(3) making sugar from sugarcane

(4) Banking services.
90, YRA WEHR gR1 “gu H yeRr " afufan wwy e ma

(1) SIS, 2005 (2) FOHER, 2006
(3) Ra=Rr, 2007 (4)  STERI, 2008.
The Government of India enacted the law of "Right to Information” Act in
(1) October, 2005 (2) November, 2006
(3) December, 2007 (4) January, 2008.
100. WA F FGLHE FA! &
(1) Iwiew (2 R 9w
(3) 2 HeE @ FEaad |

The Multinational Company of India is
(1) Infosys (2) Asian Paints

(3) Tata Motors (4)  All of these.



